Potencias de 10 (I)

Calcule los siguientes productos y cocientes.

14 =100

860,001

4310

75 % 0,1

8110

17+0,1

651

51 x1

18 +100

14 x 100

98 x 0,01

83 x 1

66 1000

60 x 0,1

291000

46 x 1

9110

410,001

30 x 0,001

381
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Potencias de 10 (I) Respuestas

Calcule los siguientes productos y cocientes.

14 =100
0,14
860,001
86.000
43 - 10
4,3
75 x0,1
7.5
81 +10
8,1
17=0,1
170
651
65
51 x1
51
18 =100
0,18
14 x 100
1.400

98 x 0,01
0,98
83 x 1
83
66 -+ 1000
0,066

60 x 0,1
6

29 = 1000
0,029

46 x 1
46
91 +10
9.1
410,001
41.000
30 x 0,001
0,03
381
38
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